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Tong y E C ¢
Hic Tons kKN/m3 KN/m2 v kN/m2 deg
Lm 14 5 21,000 0.45 100 15
O Mg 18 49 39,000 0.30 25 42
O Tong 19 50 283,000 0.30 25 42
Tons 19 50 420,000 0.30 100 42
His Hic 19 50 100,000 0.30 400 10
His 19 50 210,000 0.30 100 42
kKN/mm?2 cm2 cm4
RC t=650 39 6,500 1.83E+06
RC t=250 39 2,500 1.04E+05
RC t=550 39 5,500 1.11E+06
NATM o ck=30N/mm2 t=600 5.2 6,000 1.80E+10
SS400 H428x407 210 3.61E+02| 1.19E-02
@ 508t=12.7 1 210 1.98E+02| 6.06E-04
n =0.8
o ck=18N/mm?2
15 E=4KkN/mm? 1/2 o ck=30N/mm2
7.5
NATM 30 40
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